1190 RC 8 WHITE 2008 <2008><EU><9903H7>

ACCESSORY PACK
6176
OHMNE ABBILDUNG TECHNISCHE DOKUMENTATION
WITHOUT ILLUSTRATION TECHNICAL DOCUMENTATION
DOCUMENTACION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
{
3
{c
-~ - -
-~ ® 4K
¢ !
| @
{s
o
Pos Part Number Description Additional Text Quantity
0 3210039 CUSTOMER WELCOME LETTER 1.00
0 60012081200 license plate mouning plate FOR AUS ONLY 1.00
0 0024060156 HH collar screw M6x15 TX30 ONLY USA 4.00
0 0021060003 Washer DIN9021-A 6.4 ONLY USA 4.00
0 0985060003 Self lock. nut DIN985-M6-A2 4.00
0 58412080050 BRACKET FOR REFLECTOR 1.00




0 40006006000 WASHER 6MM 2.00
0 0966050163 OVAL HEAD SCREW DIN0966-M 5X16 2.00
0 0985050003 Self locking nut DIN 985 M5 2.00
0 0125050003 WASHER DIN0125-A 5,3 2.00
0 69007047000 PASSENGER SEAT 1.00
0 69003048033 FOOTREST SUPPORT REAR L/S CPL. 1.00
0 69003049033 FOOTREST SUPPORT REAR R/S CPL. 1.00
0 0025080556 HH collar screw M8x55 TX40 2.00
0 0025080506 HH collar screw M8x50 TX40 2.00
0 58412080000 REFLECTOR RED EU+AUS 1.00
0 00063099111 BAG FOR INSTR. MANUAL 245X170 1.00
0 312305 DOCUMENTS BAG 2006 1.00
0 312313 KTM BALLPOINT PEN ORANGE 1.00
1 3211250 OWN. MANUAL 1190 RC8 08 1.00
29 69029099000 TOOL KIT 1.00
30 60012015000 HELMET LOCK 04 1.00
33 60029070200 T-WRENCH WS=6/8/10 TX=45 B&F 1.00




